Graphing Linear Inequality Test                                                                             Bridgeport Math
Name ___________________________

	1. Given :  -8x+4y > 0

a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	2. Given :  -3x-3y <= 12 
a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	3. Given :  -9x-3y <= 12

a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	4. Given :  -5x+5y <= -5

a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	5. Given :  -6x - 2y <= 6

a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	6. Given :  -3x + 3y > -3
a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	7. Given :  9x + 3y > -3
a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	8. Given :  x – y  > -1
a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	9. Given :  -18x + 6y > -12
a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	10. Given :  -27x + 9y < 0

a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	11. Given :  -10x - 5y >= 0

a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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	12. Given :  -2x - y <= 3
a.  Slope Intercept Form :  ________________

b.   2 points on line

            a.  _____________

            b. ______________

c. Graph the line and shade in graph

d.  Circle :  dotted   or  solid  line
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